Действия с многозначными числами

1. Найди значение выражения 12012 : 3 − 170 · 4.
2. Найди значение выражения 51 · 8 − 51000 : 300.
3. Найди значение выражения (475 + 201) : 2 − 192. 
4. Найди значение выражения (2089 − 1903) : 3 + 236. 
5. Найди значение выражения (165 + 215) · 13 − 35. 
6. Найди значение выражения 47 · 6 − 65 000 : 500.
7. Найди значение выражения (455 + 235) · 14 − 45.
8. Найди значение выражения 15340 : 5 − 155 · 8
9. Найди значение выражения 16320 : 4 − 263 · 5
10. Найди значение выражения 12636 : 3 − 180 · 4
11. Найди значение выражения 18918 : 6 − 260 · 6.
12. Найди значение выражения 72 · 9 − 68000 : 400.
13. Найди значение выражения 83 · 4 − 57000 : 300.
14. Найди значение выражения 42 · 8 − 33000 : 550.
15. Найди значение выражения 63 · 7 − 10500 : 150.
16. Найди значение выражения (567 + 213) : 3 − 123.
17. Найди значение выражения (689 + 307) : 6 + 234.
18. Найди значение выражения 963 : 3 − (753 − 468).
19. Найди значение выражения 2014 · (2 − 0 − 1 + 4) : (2 + 0) · (1 + 4).
20. Найди значение выражения 2016 : (2 + 0 + 1 + 6) − (2 + 0) · (1 + 6).
21. Найди значение выражения 15015 : 5 − 230 · 3.
22. Найди значение выражения 33033 : 11 − 450 · 2.
23. Найди значение выражения 16016 : 8 − 120 · 7.
24. Найди значение выражения 14014 : 7 + 150 · 5.
25. Найди значение выражения 25025 : 5 + 250 · 3.
26. Найди значение выражения 1001 · 34 − 280 : 4.
27. Найди значение выражения 3003 · 12 − 720 : 9.
28. Найди значение выражения 5005 · 16 − 480 : 8.
29. Найди значение выражения 2002 · 16 + 630 : 7.
30. Найди значение выражения 4004 · 18 + 640 : 8.
31. Найди значение выражения 62013 : 3 + 130 · 5.
32. Найди значение выражения 71510 : 5 + 560 · 2.
33. Найди значение выражения 91620 : 12 + 535 · 4.
34. Найди значение выражения 36036 : 3 − 120 · 5.
35. Найди значение выражения 48048 : 6 − 120 · 50.
36. Найди значение выражения 24024 : 6 − 9009 : 3 · 0.
37. Найди значение выражения 14014 : 7 − 8 · 150.
38. Найди значение выражения 5000 : 100 · 36 + 302 · 390.
39. Найди значение выражения 8000 : 100 · 23 + 406 · 340.
40. Найди значение выражения 15015 : 5 − 190 · 5.

